
Capenberg *** ClubTornooi *** 4 giften per ronde *** 11/10/2021

1 Mertens Willy-Smout Christiane 2 Kerckhofs Marc-Bracke Roland

3 Baetens Monique-Verlooy Francois 4 Symens Marc-Van Dievel Herman

5 Wolput Wim-Kuyken Willy 6 Verrijken Annemie-Van Engelen Roger

7 Lammens Andre-Beirens Yvonne 8 Snyders Robert-De Cort Leo

9 Creffier Sonja-Cruyplant Yolande 10 Symons Linda-Roes Jef

11 Boel Theo-Lemmens Jef 12 Sels Rita-Van Essche Monique

13 Lenaerts Jan-De Cort Leo 14 Claessens Alex-Schoemaker Denise
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1 2   9   3  130 N4K=

u:h8

  1  11 -500 N2K!-2

u:r10

  9   3  110 N2H=

u:sA

  7   5  680 N4S+2

u:r7

3 6   4   8   50 W4H-1

u:kH

  12   0   50 W3R-1
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  1  11 -100 Z2H-2
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u:k10
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u:hB

  8   4 -120 O1N+1
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  0  12  650 N4S+1
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11 8   0  12 -450 O4S+1

u:k5
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u:kB

  3   9  170 N3S+1
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u:h2
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  12   0  170 N2S+2
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7 12   2  10 -120 O1N+1
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  0  12  -50 N3R-1
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  0  12  130 N3R+1
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  4   8  -50 Z2S-1
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  8   4   90 N1N=
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u:h2
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11 2   8   4  130 Z3R+1

u:hB
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u:h4

  2  10  -50 Z2N-1
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13 6   2  10 -100 Z4R-1

u:h10
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u:rH
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u:r8
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u:rH

5 2   1  11 -150 Z3N-3

u:k7
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  5   7  420 Z4S=
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u:rH
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u:rH
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u:k3
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u:r7
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  8   4 -100 N3N-1
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u:rV

4,8 7,2 -100 Z1N-1

u:r10
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u:s10
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  2  10  -50 Z4S-1
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1 6   2  10 -460 W3N+2

u:k8

  12   0  490 N3N+3

u:r2

  0  12 -210 W1N+4

u:r9

  5   7 -150 O1N+2

u:h3

3 10   7   5 -430 W3N+1

u:s10

 10   2  450 N4S+1

u:k4

  5   7 -150 W1N+2

u:h2

  2  10 -180 O2N+2

u:r2

5 14   7   5 -430 W3N+1

u:s2

  6   6  180 N1N+3

u:r2

  12   0  -90 W1N=

u:k10

  5   7 -150 O2N+1

u:h3

7 4   2  10 -460 W3N+2

u:s2

  1  11  -50 N4H-1

u:r2

  5   7 -150 W1N+2

u:k10

 10   2   50 W4K-1

u:h7

9 8  10   2 -400 O3N=

u:r2

  1  11  -50 N3N-1

u:r2

  5   7 -150 W1N+2

u:r9

  0  12 -400 O3N=

u:h3

11 12   12   0   50 W3N-1

u:rB

  8   4  210 N1N+4

u:r2

  5   7 -150 W1N+2

u:r9

  12   0  100 W2S-2

u:rA

13 2   2  10 -460 W3N+2

u:k8
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1 4   3   9  -50 Z2S-1
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3 8   3   9  -50 Z2S-1

u:h10

  5   7 -100 Z1N-1

u:s3

  5   7  480 N4H+2

u:k8

  1  11 -200 W3H+2

u:sH

5 12  10   2  140 Z2S+1

u:h10

  5   7 -100 Z1N-1

u:s5

  11   1  490 Z4N+2

u:rH

  9   3 -140 W2H+1

u:s9
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u:sA

  2  10 -140 O1H+2
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  11   1  490 Z3N+3
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u:s3
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  0  12 -200 Z1N-2

u:s3

  5   7  480 N4H+2

u:sA
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u:h4
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u:sH

13 14   12   0  300 W1N-3
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  5   7  480 N4H+2

u:k3

  12   0  100 W4H-2

u:k9


